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Instructions :

(1)
(2)

(3)
4)
(5)
(6)
(7)
(8)

/ T-0660_A

'Answer question nos. 6 10

All guestions are compulsory.

Question Nos. 1 to 5 are 30 objective type questions.
Each question carrics | (one) mark.

Internal options are given in question nos. 6 o 23.

Marks of each question are indicated against it
17 in aboul 30 words each.

Answer question nos. 18 to 20 in about 75 words each.
21 to 23 in about 120 words cach.

Answer question nos. ‘
K labelled diagram wherever required.

Draw neat and clean
1 IWIIIIIHIHHINIMHNIIIM P.T.O.
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g8 faee gt fafaw: 1x6=

(i) Fe,04+ 2A1 - ALO, +Te

Ha & 78 tufear few wew & 22

(a) WS SrfeaT (b) faRrem aifirfpar
(c) Foitor el (d) Prere sifufem
(ii) o™ & ITER B & g Feafafaa & & feg oiveelt &1 sugm @rar &7
(a) Tdamfeds (wfrtfos) (b) Tt (dreEd)
() R (d) wrafes (vl
(iil) W & Wi I B W @ F9W F frg Preafelad § F B @ iy g 30
(@) W wTHT (b) W T
(c) WNiw & g g (d) wiftaT & 9 ggHT
(iv) =AM agses dfe &, frmer g -
(a) wEifatas ane (b) dfvserss
(c) @rm (d) Urpred

(v) Uraedz & fygueq ¥ g% S SIAGEES, S a91 Sl a1 ¢ o a8 fomar
B 3

(a) @frewr gem A (b) =t §
(c) ®fa was o (d) &= ¥
(vi) = dfve B % T @ W #@ Fe - |
(8) P (b) frrw |
(c) o (d) omam
|/ T-0660_A 2 | BT M- 2.0
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Choose and write the correct alternative:

(i) Fe,0;+2Al-> Al,0, +Fe
The above reaction is an example of g
(a) Combination reaction (b) Double displacement redction
(c) Decomposition reaction (@) Displacement .rez_l;ction

(i) Which f:me of the following types of medicines is used for trcating
indigestion ?
(a) Antibiotic (b) Analgesic
(¢} Antacid (d) Antiseptic

(iif) Which of the following methods is suitable for preventing an iron frying
pan from rusting ?
(a) A;ﬁplying grease (b) Applying paint
(¢} Applying coating of zinc | £d) Applying coating of cromium

(iv) Butanone is a four carbon compound with the functional group —
(a) Carboxylic acid (b) Aldehyde
£) Ketone (d) Alcohol

(v) The breakdown of pyruvaté: to give carbon dioxide, water and energy,
this reaction take place in
(a)" Cytoplasm (b) Mitochondria
f£)  Chloroplast (d) Nucleus

(vi) The galp': between two neurons is called
(a) Dél*;drite <tb) Synapse
(c) Axon . (d) Impulse

[3m]/ Tass0 s 3 MR P-TO.
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e e sf@: 1x6=¢
(i) AN BN Saed Ha¢ & FoeH g i U T
(i) " gie & 9uw & Y gue qof @ swgaw g wme el 31

(ili) W@y F WA F BT SHIST BT G v e ¥

(iv) fega s @1 S.1. W B ¥
(v) fawarax @ 79 0% 495 a0 B o g, @Ed B
(vi) @YU & §99 URU¥ ¥ ROEd om0 @1 qe Grren%u

Fill in the blanks :

(1) The disposal of the waste we generate is causing serious

problems.

(i) The' least distance of distinct vision for a young adult with normal

vision is about
(iii) Scﬁﬁering of light cause the _____ colour of sky.
(iv) The.S.1. Unit of clectﬁc power is
(v) Th% jpotential difference is measured by meaﬁsﬁ of an instrument
call[_g_:a . -
Oy

f- ‘I . . !' ll.
(vi) At the time of short circuit, the current in the circuit

200

/ T-0660_A 4 IRy - e 1.0.

https://www.mpboardonline.com



1x6=6

(i) mwmﬂﬁsm%ﬁmﬁmm%.
(iii) awéwﬁﬁﬁmmmm&aﬁm%,mﬁﬁmﬁamﬁ%
(iv) D-N.A. &1 QU 9™ Sronediiasaia <gfes o 2wy )

(v) mﬁﬁﬁﬁmﬁmaﬁawuﬁwmﬁﬁaﬁmwaﬁam
feior BT &, 9 gTegwET s ¥

(vi) Fwnadr wemale sififhar § Swr @1 erasiivor gar &
Write True / False :

(1) Two magnetic field lines intersect each other. |

(if) Chlorofluorocarbons is used as fire extinguisher.

(iii) Substances that are broken down by biological processes are said to be

non-biodegragable.

(iv) Full form of D.N.A. is Deoxyribose Nucleic Acid.

(v) Hydra can be cut into many pieces and each piece grows into a complete

organism. This is known as regeneration.

(",i) Energy is absarbed in exothermic chemical reaction.

/ T-0660 A | 5 A OEN ar o ey P-T-O-
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Match the column :

(A)
(1) Marble
(1) Vinegar
(iii) Bromine

(iv) Benzene

(a)

(b)

(d)
(e)
(H

(8)

(v) Pair of sex chromosomes (e)

(vi) Insulin

200

/ T-0660_A

1x6=¢

(B)
Liquid non-metal

CeHg

LaCO,

Acetic acid

Regulates blood sugar level

XX

XY

LU T T e

https://www.mpboardonline.com



5

e /e § S e

(i)
(ii)
(iif)
(iv)
(v)

(Vi)

1x6

@d 9 Y $ed B 7

e & @ g o s e @ A e
oy % gea fr fee wgd BT

at ¥ W & v I a w fa #
Rrga o @1 s qe ffad!

M.R.I. (c.amz.amd.) &1 qu am fefeg

Write the answers in one word/sentence each:

A

(ii)

()
(iv)
W)
vi)

What is the blood pressure? .

Write the name of plant hormones which help in the growth of
the stem.

Who qued out the main rules of such inheritance?
Danger Signal light are red in colour, why?
Write the commercial unit of electrical

energy.
Write the full form of MR .

AR P-T-O-
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(i) g
(i) @& w1 D

1 . ; ?
Which types of acid found in following natural source

(1) Lemon

(i) Ant sting
st / OR
S5 TR & @5 3 I9AF fet@u |
Write any two uses of Baking Soda.
T 1 gRE fag Wi anRu
Draw the electron dot structure of ethane.
E / OR
qeA &l e fag €9 aER|

Draw the electron dot' structure of methane.

8

I~

b~

9 fagd Teaw 50 wen ¥ 7 ffad
A
What is denatured alcohol? Write.

T / OR
§m%mﬂﬂﬁﬁmmﬁmﬁﬁﬁmw%?wl
[How to use alcohol as a fye|o Write,

200 | / T-0660_A
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(0 o W H e caiel
Define life processes.
s / OR

qaTs deRE @t o e

Write the chemical reaction of photosynthesis.

1w o @ I & g i yaee @ STErT @ e s
Erediicel

Why is vegetative propagation practised for growing some types of plants?

Write reason. nttps://www.mpboardonline.com
3 / OR

Had TIUT deAe @ ufarer e

Write definition of tissue culture technique.

12 rn?mﬁnﬁrrﬁwwﬁcrmwﬁwmms’m%?ﬁvﬁg&l
How does the embryo get nourishment inside the mother’s body? Write.
d9a1 / OR
i W FE T e et ame R R @ e 27 fefd

What is menstruation and how many days uvsually lasts in
Write,

200 | / T-0660_A
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13w g ¥ S & R fraioo 8 g 27 (daa @ i §9E0)
How is the sex of the child determined in human beings?

(Draw only liner diagram).

su@ / OR
T & W waky §@ (F)) &1 @ fod SR

Draw the liner diagram of first generation or F| progeny of inheritance.

14 va & T & o ffga)

Write laws of reflection of light.

sy / OR
Fe @ st i

() =

(ii) wew gh

Define the following :

(i) Centre of curvature

(11)  Focal length

15 ﬁ%ﬁﬁﬂaﬁqﬁl@%.%ﬁﬂimwwﬂiﬁm%?ﬁqﬂgﬁ,
The refractive index of diamond s 2 4o What is th .
statement 7 Write. H1e meaning of this

W@/ QR
ey @9 BT | SRART awar Y Ry ifr

Define 1 dioptre of power of a lens.

/ T-0660_A 10
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16 ﬁa‘@tﬁﬁﬁaaﬁﬁwm#ﬁﬁaﬁmﬁwmaﬁmm%? 2
s fefad |

Why does the sky appear dark instead of blue to an astronaut?

Write reason.
dyat / OR
g i A8 fenfeu ? @reer fafguy

Write reason why the planets do not twinkle.

17 P ofa ¥ wwd o A P o e R S 1+1=2
(i) foga &
(i) e Prdem
Draw the symbols of following components used in circuit diagrams:
(i) An electric cell
(iiy Rheostat
s / OR
o et &1 Sfate R B T it @R ¥ 7 (@8 2 sre fifew)

On what factors does the resistance of a conductor ‘depend ?

(wri_té any two factors)

200 | / T-0660 A I VRSN ERY PT.o.
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1+1+1=3
18 %0 urg @ saEr AfFC T
(i) FW % a9 9T 79 &l ¢
(i) og & oEr & B wHd
(iil) o H FEY oo TAH B B
Give an example of a metal which
(i) is a liquid at room temperature.

(if) can be easily cut with a knife.
(ii1) is the best conductor of heat.
dqar / OR
P w2 Y oftemyr v
() w@fme
(i) oW
(1ii)
Define the follewing terms:
(i) Mineral
(i) Ore

(1ii) Gangue

200 | / T-0660_A
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19 aﬁmmmm%ﬁmqammmm%aﬁaﬁwﬁﬁwﬁﬂﬁﬂm

1+2=3

. . . » > g b 4 - l.
Draw the structure of neuron and write any two names of organelles of any cel

s / OR
yieadl = & fox sy qu @Y @ et & A fofag)

Draw the structure of reflex arc and write any two names of part.

20 it T o (adw @1 @) Fraw Y atd e 2+1=3

21

200. | / T-0660_A

Write the right hand thumb (Maxwell’s corkscrew) rule Qith ray diagram.
sg / OR
Wit & arre @ few Yent wftd fafaa

Write the Fleming’s left hand rule with ray diagram.

= Tramﬁ‘{ai tfhaTal & wert fafgu: 1+1+1+1=4
: eI

(i) 2FeSO,(s)——— Fey0yg) + SOxg) + SO3,)

(i) CaO(s)+H,0(¢) - Ca(OH)2 (aq)+ S

(iiiy Fe(s)+CuSO, (aq) > FeSO, (aq) + Cu(s)

(iv) Na,SQ,(aq)+BaCl,(aq) BaSO, (s)+ 2NaCl(aq)

13
IlIII\IIIﬂIﬂIIIII!lllllllllﬂlllllﬂllllllllllll P.T.0.
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' i 1ons :
Write the types of following chemical reacti

Oyg) + SO3(®)
(i) 2FeSO, (s)——H—EaL—)‘ Fe,O35) * SO7(g) + (8

(ii) Ca0(s)+H,0(() > Ca(OH), (aq)+ Heat

(iii) Fe(s)+CuSO, (aq)a'Fesod(aq)+Cu(s)

(iv) Na,SO,(aq)+ Ba¢12 (aq) —» BaSO, (s)+2NaCl(aq)
s / OR

(i) o T @ T FEEes A B, fea were @ sfafear 37
@ g ffa)

When sodium sulphate react with barium chloride, what is the name of

this type reaction and write its chemical reaction.

(ii) mm@ﬁm%mummﬁwﬁﬂmmm%?
T8 afthirn 2 terafe e fafa)

Which type of product produce, when calcium oxide reacts with water?
Write its chemical reaction. - |

Qe ¥ 9T U W TEifeT Ry TARU|
| 2+2=4
Draw labelled diagram of open and closed stomatal pore

S9q / OR
ﬂmmﬁqmmmﬁam@

Draw a labelled diagrar |
gram of excretory s .
: }’Stem 1n hUman be;
eings,

200

! T-0660_A 14

[ﬂlllﬁ!iMIIIIIIHIIIIIHIIHHIIHIlﬂllﬂrlﬂfﬂl P.T.0

https://www.mpboardonline.com



el
23 Ma‘ﬁrﬂwﬁ%mgw%@ﬁﬂiﬁmmﬁﬁaﬁwﬁwaﬁ
ﬁms.oo:n%nufaqmaﬂwa&wéS.OOmﬁgﬁmﬁua%?ﬁg%faﬁf
Raf, wGht T SHT A BT

A convex mirror used for rear-view on an automobile has radius of curvature
of 3.00 m. If a bus is located at 5.00 m from this mirror, find the position,

nature and size of the image.
sy / OR

i 4.0 om THR B Few el 15.0 cm w0 % s 399 ¥ 25.0 em g0
T ¥ 1w A R g o R o e W i we wiife wr e e sfafes
) Y T AR T B

An object, 4.0 cm in size, is placed at 25.0 cm in front of a concave mirror
of focal lengj}; 15.0 cm. At what distance from the mirror should a screen be

placed in order to obtain a sharp image? Find the nature and the size of the
image. ‘

! T-0660_a
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